
9² - (28 × 6) =

83 - (3 × 64) = 

963 - (210 ÷ 15)

(7 × 23) - (450 ÷ 5) =

(4.5 + 3.5) × (420 ÷ 6) =

7 × (130 ÷ 5)

33

190

182

324

1624

949
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14 + (23 × 70)

 36 × (5.5 + 3.5)

379 - (3 × 7) × 3²

(45 × 5) - (8 × 24)

560

71

275

249
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BODMAS Matching Cards Answers

Question Answer

9² - (28 × 6) 249

(7 × 23) - (450 ÷ 5) 71

83 - (3 × 64) 275

(4.5 + 3.5) × (420 ÷ 6) 560

963 - (210 ÷ 15) 949

7 × (130 ÷ 5) 182

14 + (23 × 70) 1624

379 - (3 × 7) × 3² 190

 36 × (5.5 + 3.5) 324

(45 × 5) - (8 × 24) 33
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